
4000 6000 8000 10000 12000

−
1
.4

−
0
.8

−
0
.2

Iterations

Trace of traithorn.polled

−1.5 −1.0 −0.5 0.0

0
.0

1
.0

2
.0

N = 1000   Bandwidth = 0.05058

Density of traithorn.polled

4000 6000 8000 10000 12000

0
.0

0
.4

0
.8

Iterations

Trace of traithorn.scurred

−0.2 0.0 0.2 0.4 0.6 0.8 1.0

0
.0

1
.0

2
.0

N = 1000   Bandwidth = 0.04292

Density of traithorn.scurred

4000 6000 8000 10000 12000

−
3
.0

−
2
.4

−
1
.8

Iterations

Trace of sexmale

−3.0 −2.5 −2.0

0
.0

1
.0

N = 1000   Bandwidth = 0.05832

Density of sexmale


